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1. Determine the maximum/minimum valué al’id where
it occurs by partial factoring and by completing the
square. (Must use fractions for this — no decimals on

exam)
y =—-3x%+21x — 2
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2using the quadratic formula. (Simplified exact
answers on exam... no decimals)

a)12x = 8x% +1
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(20-1Y=H00-40+) |97 (10+9) = Jpor/d+%)
= 3/ = 3
b)5x2 —19x —4 =0
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a) 5x2+13x—-6=0 b
(Bx-2)(x+3)=0

3yfactoring.
- / I @/ ,@ A(,(-CB
5 3

Gy—2=0 ok F¥3=0 M- 30
2 X -3 At13
oz o~ Z
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b) 4x? = 5x
L—'—XZ-5’)6 =0
(@64?6_5\):.0
N=0 or Hy-5=0
Hr=5
LoD
=
c) x? =1
L
Y™ —1 =0

(3x-1N(Bx+1)=0

3x—-l =0 oR 3x+]=0
3x=) 7(::_-31>
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4. Simplify. Ensure all denominators are rational

numbers.

a) 24v20 — 7V/45 b) (3v2)(5V14)
—Mitvs -7N9vs  =[5{38
_ u@®E-1E5 = 597
= 4 (DB -T()B = 15(dF
= UR{B — a)E = 305
= 3a1{s

10v20 4 {3
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5. Determine the family of parabolas with roots 7 /3
Sum =+ 3+F-3) =alx-s)x—t)
= |4
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= A

= (7(*5)(7( +3) A

set W=0




